
절[2.15 ]

2.113  =   = (16 kg) (9.81 m/s2) = 156.96 N

W = - 156.96 N j

 =   
      = 721.11 mm

 =


[(-400) i + 600 j] = -0.5547 i + 0.8320 j

TAD =   =  (-0.5547 i + 0.8320 j)

 =  
        = 650 mm

 = 

[200 i + 600 j - 150 k] = 0.3077 i + 0.9231 j - 0.2308 k

TBD =   =  (0.3077 i + 0.9231 j - 0.2308 k)

 =  
       = 650 mm

 = 

[200 i + 600 j + 150 k] = 0.3077 i + 0.9231 j + 0.2308 k

TCD =   =  (0.3077 i + 0.9231 j + 0.2308 k)

에서plate ΣF = 0 ⇒ TAD + TBD + TCD + W = 0

Σ = 0 ; -0.5547  + 0.3077  + 0.3077  = 0 … ①

Σ = 0 ; 0.8320  + 0.9231  + 0.9231  + (-156.96 N) = 0 … ②

Σ = 0 ; -0.2308  + 0.2308  = 0 … ③

③ ⇒  = 

① ⇒ -0.5547  + 0.6154  = 0 … ④

② ⇒ 0.8320  + 1.8462  = 156.96 N … ⑤

-1.8462× + 0.6154×④ ⑤

[(-1.8462)(-0.5547) + (0.6154)(0.8320)]  = (0.6154) (156.96 N)

⇒  = 62.9 N

0.8320× + 0.5547×④ ⑤

[(0.8320)(0.6154)) + (0.5547)(1.8462)]  = (0.5547) (156.96 N)

⇒  = 56.7 N

 = 56.7 N
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2.127   +  +  =  

⇒  +  = 0.84 m2

P =  j = (680 N) j

 = 


{(0.40 m) i -  j +  k}

= 0.40 i -  j +  k

(a)  = 0.3 m

에서A ΣF = 0

⇒  i +  k +  j +   = 0

⇒  i +  k + (680 N) j +  (0.40 i -  j +  k) = 0

j 방향 ; (680 N) - (0.3)  = 0

⇒  = 2267 N = 2.27 kN

(b)  =      = 0.8660 m
에서B ΣF = 0

⇒  i +  j +  k -   = 0

⇒  i +  j +  k -  (0.40 i -  j +  k) = 0

k 방향 ;  - (0.8660) (2267 N) = 0

⇒  = 1963 N = 1.963 kN
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